7% 9277 7"7 "0 R,% Mo .7"'o2

— DIP EYWRY 71T DY K33 297 9957
All agree; that whoever forces himself on a 7173, pays Knass

OVERVIEW

X701 21 ruled that all agree that one who is 0iXn a 771 (who is forbidden to him,
nevertheless) he must pay 01p, since it is 7”7 72 W and 7n>°P% 7K1, The R
continues and says, ‘and (this is) to exclude the view of 717 12 7171 '3 who
exempts NN°7D °21 from monetary payments (just as we exempt 7'"°2 NN 22°n
from monetary payments). There is a dispute between n1v0In and *"w7 as to the
meaning of “P1XR?Y' does it refer to "1°n7 W'Y and X°01 72 W' (the view of
mooIn),’ or does it refer to our mwn (the view of »"wM).

mMooIn asks:
= D2 NN NXDIN 12 PYNIVY 2397 )53)2 PNy 199249 NN

The >'"1 is astounded! From where did X701 27 derive that »'"'2w= agrees to this

(that o1p 25Wn 71717 %Y X2) -
- PRYYNN I DNV MNID 239907 >1dY X920 NIPN 13 NINN) %299 NNYT

Perhaps »n"2w" agrees to ;7''219 that those who are liable for n9> are exempt

from monetary payments and since there is a 15 21 for being with a 773, the DIN7 is
exempt from 0Ip.

mooIn explains why the s"7 question is regarding »"2w1 and not >1°N7 NYAY ":
= N2INI 2397 NI 51D TN DY %31)9NN PYNY 29 1)

However, perforce you must say that s1»°n77 w''9 disagrees with 1''9 and maintains
that mn°13 >3 are PMPWNA P20; MOOIN explains -
- 7191 N3 YWY DYUR AYURY 1509 199 *Mnsaa 2950 »0IunY TIIONINT

For since "12°n77 w"1 requires the P05 of AwRY 7970 891 - which is expounded to
mean a woman that 713 390210 PPRITIP - to exclude NN 9297 from 03p, for PWITP

' Presumably Mmoo maintains this view for [presumably it is] n"3 [who] says the “p1©X2 immediately after
mentioning the viewpoints of both *1°n71 w"3 and n"2w" (by saying, PR ,TA™PY TMIKRY M1 K7 191 7T 72 w01 R
"2).
* See footnote # 9.
3 n"awn stated that we require that the 701K should be an 72*>p% 77X AWK to exclude a 729011 NATAR, or WY %27, etc.
In all these cases there is no n73 2n. However where there is a n72 211 (as there is by 7171) there is no 01p (even if
she may be considered 72°°p? 717X AWR), since NN °2°1 are 1MPWNA WD,
* moon presently assumes that the exclusion from WK% 7°70 891 can apply only to Mmn»3 *2n (as explained shortly).
This proves that *1°ni7 "1 disagrees with 11"217, for otherwise there is no need to exclude mn*1> 211 from paying
o01p from the P09 of TWR? 71°7n X9, when they are already excluded, since NIN®13 °2°°1 are PM>wnn PV,
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are not 091N by Mn™> "21, so in their case the 0IXM is MWD from 01p. MOOIN explains why he
assumes that WX 7°70 17 is excluding only mn3 2> -
= NI 53N NIN SVIYNY TIVN XY TH90 by4

For perforce you must say that *32°n;1 w"9 requires the p109 of 7°7n X5, only to

exclude nin®> 527 -

= 1191 192 NN (v x,01 97 M%) NIIND GIDA 1D X920 PIND Y2911
Since °12°n77 W' maintains in the end of v P10 that 1w7op is o290 by 2n
'PWN’? (and certainly by 7wy °2>°11), and in those cases 01 will be paid. The only exclusion is 21
mn»> and if he would agree to 71"217, there is no need for an additional p109 to exclude 321

mn»>3 since they are PM2wnn 1PWd (according to 71"217). MDOIN returns to his initial question -
= NN 297 %Y Y 19319 NYP NI Ja PYIY 2399 DaN

However, there is a difficulty regarding »''aw9, how does 1"7 know that n"awA
disagrees with 1''1.

mooIn reconsiders and now claims that the same question applies even to 12 077 w'":
= N2INI 797 1199 5N NNIDT 239NN PYNY 229 199N N
And in addition we can say that perhaps even %1307 @' agrees with 1" -

- NAYY X919Y N2 1POIN PYITH PRT “PIYY N1 NURY N3P 1911 S0IWNY TIVYN)
And he requires the exclusion of 7wX> 7570 891 (not for mn> 211 for they are
automatically exempt [according to n1"211], but rather) for a pw» m»2s where all
agree that 7712 1020 PRITP TN,

- (0w 3,38 97 0w) |39 YNNI VNTS

As the X721 states in 7129 WNRT P79, The question is that perhaps both >32°n77 w" and »"2w
agree with 11"217 that mn°13 °2»1 are 12wnn 0D (and the exclusion of 7970 X7 can refer either
to WL n2 (according to 12N w"I) or to IR? °2»n (according to n"awn); however regarding
mn®12 721 no new P09 is needed since there is no PM>WN 21°1 by MmN °2n.

N1B0IN answers:
- %919 Y2IONYY MNP $91TY K3IINI 5393 1290 NIN DIV PNRT 1YY N30 NTON 397 19 ¥

> »"aw" maintains that 770 X9 requires an 7°P% 777 AWK and that can be XY *2°17 and AWy 21 and he does not
need the 109 to exclude Mn»3 2> for he may agree to 11217 that NIN>13 °2>°1 are always PWNT 14 100,
% The 7m0 writes in 71,72 (X¥N) 227 regarding a 7m2> that 71 WRY 7T N7 AWK A0 &Y, that the 72> (whose
husband died childless) cannot marry on the outside unless she first has 212° or 7¥°>n from her late husband’s
brother. The fact that the 7710 writes 7°nn X7 indicates that 10910 P@17°p PR (the marriage is invalid).
! The X732 there states 12 777 72 XN KXY 7 WORY 73107 DA DWR 7°70 RY MR 7n2°2 70910 PYITR PPRY P12 27 R
RNRT RV PYITR 712 °00N K27 O RNRT RI7T IRD2 R DA NWR 7700 R ORT HRINWS 799 RPOOA 1A 172778 11017292 R 25X, In
any event '01n question is that according to 27 that PWw?% 7n2°2 109N PWITR 1K, how does 1"1 know that > 07 "
disagrees with i71"211.
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And one can say;® that 7"~ maintains that there is no X1 who agrees with 1'"9

and therefore he said this ruling of 01p o%wn 17717 %¥ X277 and to exclude, etc. from
the view of 71""217 that P27?wn:I 12 WD M "m0,

mooin offers an alternate understanding of 17""23777 *P1OK?:
= NINI 22971 NpPOnNT IO’N‘p PPNINNDNT RURLY 090MPY

And >"wn explained that *»98% is referring to our 7w, that our mwn which
states that \mnX H¥ 827 is required to pay 03P even though there is a mn>3> 2, this
rejects the view of 2''9.

nooIn asks:
= 0P 10D Y MNI9 229NT NN 229 NN NNDT 19390 RPNt 159 NI N1

And it is astounding! From where does the 723 know that our 71w» rejects the

view of 77""217, perhaps 1''9 agrees that nin>32 5291 are required to pay 91, even
though generally nn>3 >2»n are PMPWNA PW0D -
- N9 239NY 1M PINY 305 10 NP 1139297

For the two extra 2o included them; one 705 included MR» "2»1, and one
?109 includes NINID 923977 to pay 0P even though generally 1m7wnn PAWD MN*3 °270 —

mooIn limits the scope of the question:
- NN 22979 PIIND NPT NN NIPY 2299
However (if our mwn is) according to ¥''9, our mw» rightfully rejects the view
of 1'"9 -
- PINY 229902 PODIMN PUITP PNT 11T
For since TR 529772 190510 PRATP N -
- B1ING 52915 11) NYY 53590 1N 99135 3990 TaD MMIIPINY NN

¥ Indeed n"1 may not have proof that both >1°n71 w1 and »"2w" disagree with 7"217; however it is the view of 1"~

that no one agrees to 77"217, and therefore there is 03P by 7717 ¥ X3, since we disagree with 7"217 and also it is 72 >

7717 and 727P% RN, It is 1" who said 19821 (not the X137 XAND).

9 5p198%1 1"7. The difficulty noon presented on his understanding may have convinced *"wA to interpret the “P1oxY

in a different manner to avoid nN»dOINT NWIP.

' According to *"w"2 it is possible that the X737 X200 is saying "p19X>Y (but it has no connection to the statement of

n". See however the 2"wnnn cited in “Thinking it over’ # 1).

"' mooin understands that the *P1R? of N is referring to *3°n7 w"3 and n"2awn (and therefore mooin had his

question); however *"w1 understands that our 71wn (which is 01p 2m by M3 °2°1) rejects 7"'217 (this seemingly

removes '01n question).

12 See the X3 on 2,05 that there are three 0’105 and two are extra, ¥"»v.

3 However if we maintain that IR? *2»m2 1o PWITP then there is no need to have two 09109, one for qwy 10

and one for 1MX *2»n, since by both of them Pw TP are omn. It is only according to ¥"7 who maintains PP PR

IX? 212 1090, but are 10910 by 7wy 21 (like "0 1 or even according to 22w " by 2"757 77w2), that we need
3
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We can establish these two inclusive 2°2105 (according to 73""217), one to include
Y "a»n (where 10910 PYIT°R) and one to include JM8® 2% (even though W) 18

7°091N)
- BNY NIINI 2399 MNP 22991 YaN

However there is no additional ?105 to include nns9> %291 according to 1''9, so
the 71wn which holds mn>12 °2>°17 liable for 01p rejects 71"217. However if we maintain that e 7p
IR "2 109N, we can say that even according to 171"217 there is a special M12°7 to include 21
mn»> for 01p payment. How can w1 say that our 71wn rejects the view of 7"2177!

Mmoo offers an answer to >"w1D:
= N2INI 2291 1PNINN NPON TN J¥T NINY DNYAN 12 PYNY 13229D NN

And the X"2w9 would like to answer that perforce you must say that our mwn»
rejects the view of 1" -

- 157 1152 NS 229NY MNG9D 529N 12 HIYIN PN NIINI %2954
For according to 1'"'1 there is no difference between nin>> 5331 and nns» 52371

7'"'53, regarding 7°1n 712772 9 Op to exempt them from paying money, this is true -
- DAY NN *9Y N9 X329 W19 1N PPox Noxn N

Whether 1" derives his ruling from the mw 7713 of 1OR 1OK or whether he
derives it as 821 expounded on the verse of "3 1°%3° 0bvi oxy, that My n23 is like
your 10, etc.
= 194 5%2 /N 227N 15 0) Y MNID 229N NININI 229D DIp W ON)
So if there would be 217 according to 1''9 by ninsa2 52%°17 there would also be 01p
by 7''52 NN} 52997 since they are the same -
19909 102 Yy X3 50D NN

However our m1w» maintains that one who is 01X» his daughter in 919 from o1p,
but according to 71"217 he would be 2717 for 102 just as he is 217 for ININX

SUMMARY
According to M90N it is the view of X701 217 that no other Xin agrees to 71217 that
TMIPWNA 10D M2 °21 and therefore 77717 9Y X277 is 01p2 27, since she is 72 W

two 0’100 one for WY *2»1 where 10910 PYITR and the other for IR *21 where 109N PYITR PR.
'* See “Thinking it over’ # 1.
15 See the X3 on this 7Y that there is a w"r from 07X *772 710K to 0°nw *7°2 oK that they are both similar
1o See the X3 on the '2 Ty where 827 cites the D7p100 of T7m7 W M AN R AR T2 DY DR PIRT Y M9y 0997 oX) .7
22 [DPwrTR] XP™) Lony 27pn T70T IR N7 YION 20 92 NX) IR "R277) MDY R WK *39 X I R 190K 17 0737
71 7), which X271 expounds to mean that if you do not give him 7"2 nn*», I will punish him with 2w >72 n73.
17 2,7 (this is a continuation of our 71wn on X,v3). See ‘Thinking it over’ # 2.
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77 and 7P R0, However, "W maintains that our miwn disagrees with 17"219,
since it obligates NMN>12 °2>°11 for 01p, but exempts 7'"°2 MN*2 °271 from 01Ip.

THINKING IT OVER

1. mpoIn asks how can we know that our mwn disagrees with 71"217, perhaps our
mwn also agrees that m>wnn w0 NIN*1D °21, however there is an exception by
DIp, since the 77N wrote an extra P10 to include (even) NMn> 3. 18 Seemingly
we can argue that if mn>> 21 are PMPWnn PNWD and the only reason there is a
Dip 211 1s because of the 1277, perhaps the ™27 only includes 771 M0°X (which is w»
7171 712 and 7n°°PY X7), but does not include the other NN %21 where WIT°P 1R
091N, However since the 71w includes all nin°2 °2>°1 this indicates that the 7iwn
disagrees with 7"217. What is 9010 question?!"”

2. Seemingly the answer of the X"2w1 on "9 is obvious;” why did not msoin
realize this?*'

18 See footnote # 14.
19 See X"wAn 5" w1 and A™w 2"An. See (also) 2 MK "N who writes X111 ' PRINM XPOH T2 YT AN AR 2N
PPI92 1P YW 191 P11 72772 779 0% MDD 2210 DAR PR An20T IRLY TN WY PIRD 22007 T 0RIR LXK X0 0T
7NN RAPINA K2 MDD 927027 YAwR IR XOWP KO 9273 X (2,79).
20 See footnote # 17.
I See (19102) 13 MR 7"0.
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